EARAROBEEIERT — 2 N— IBISH —F

201743A7H (K) 18EIAH2H

12R ERiZeH]

Cl— ¥5%—#

‘ [Riz] & ‘ [REBE] — | & (%) 1800M THE

[A~&E£] 17 :2,300,000 § ~ 23 :920,000 37 :575,000 "

4 75 :345,000 F 5 3& 230,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. B4 | WHER 1:57.8 3-32-2 | 40.7| - 3 487 | RIATR (KH)
11813 :lZ:Ejjj ~ 56.0 (=) -1) ;1;7'(3'55&
R:wYULETyEk BiFAXAy b EvJLyRT77—L4
IR 4 5 | )3 1:58.1 1-1-1-1 | 41.3| — 1 463 | HEEF (KH)
2011 |A7V>T7T7—=X 56.0 (1 1/2) 4y | B itHs
Lxoyv¥/¥tF B:XTYLTRY2— pu e}
N N o BTHER : -9-5- - BB (/I\HE)
N NS L-Er # 4 | mEE oS I Rl T3 elsa
v NyahTr By AZJETZR BRiAHIS
SR 4 6 | EEX 1:58.1 6-7-5-5 |40.1| — 2 498 | ETEMH ()\4h)
NI ESZE R A 56.0 (742%) 1) |BRE
R:TA—F4FAF =YL BANFFr RS
o 4 4 | KEH 1:58.4 7-7-7-6 | 40.1| — 5 487 | RWTIR (KH)
57|10 /Y- VF X 8.0 (1 3/4) e | ) wwis
LN—=VFNTyTa BTENEZINXRTHIL [EEN e ]
; i 5 | FEF 1:58.4 13-13-13-13| 38.6 | — 4 457 | SLAEfR (K3F)
6lgl12| 7EYT ‘ . 54.0 (74=) (5 |, B V=7
L:tr/n7AaqA4 B4 IXF TR BT 7 —L4
. NN o6 | EHE— 1:58.6 4-4-3-3 | 41.1| — 10 | 547 |ESRISHD ()HE)
] 2 INT—EyF T 56.0% (1 1/4) -3) "%.;@Ti‘}
L:yQ7% B4 FA Gieflipae]
D S 4 5 | HEARE 1:58.8 11-11-9-8 | 39.7 | — 11 400 | MRS (KH)
8|5|6|=>/%FvY 56.0 ) (1) | BB
R:T7HIHTFLIY B:XZ—Fa1Iv b N E%5%
¢ 4 5 | #EEFD 1:58.8 7-5-10-10 | 39.4 | — 6 470 | SIRERLE (IHE)
9ls|7 LA 5.0 76) Lo |AEHES
L:TA=—T4FAF=—XH> B:RU—-—LI—> NE FA
R o4 | BBXE 1:59.8 5-5-11-12 [ 40.3 | — 8 472 | BAREZ (KH)
1wl 9| byT> k=7 56.0 ®) L) | T
RV RYZYAIR B:24%TULEX HIR=HHS
o 4 5 | FIHEEE 1:59.9 11-11-12-11] 40.4 | — 12 501 | AT LEFEE (KH)
1 3| Ty 7U7 56.0 7E) (-5) |ETEE
Z:aviX BTy vahvia— H—L—- T vIN> - T7—LARSE
— 5 4 o6 | HilRIhEA 2:01.9 2-2-4-7 | 44.0| — 9 494 | FWEF ()
12 5| V—T1>UITT7— 56.0 (10) (-q) | P
R:GFATLH— BTLY v RINT SIS
; 4 4 | AHES 2:01.9 10-9-8-8 [43.1| — 13 | 510 |UBHE=E (KH)
13fs| F-774-2 54.0 7€) (o) | PR
D=9 T74—X B:ZT79Fa71)— HE77—»4L
® I—F—@EBIERL
|S=7r= 1,5,13,2,9,11,(7,10) ,4,8, (3,6) ,12
20—4— 1,5,13,2,(7,9), (10,11), (4,8), (3,6) ,12
3T—7— 1,13,2,5,(4,11),10,8,6,7,9,3,12
43—+ — 1,13,2,4,11,10,5, (6,8) ,7,3,9,12
[ N5
B 13 5004 794K 1-13 380 & 1-8 460/ &R 1-4-13 5,390M
BB 13 160/ 4-13 1,270H e B 8-1 1,090M EE 13-1-4 27,800/
1 120 1-4 910M B = 1-13 750
4 440M B H 13-1 1,820

ABICOVWTRDTEEERROODE. TR LIV,




